TEST No. 25

TOPIC: PHYSIOGRAPHY OF INDIA
SUBJECT: INDIAN GEOGRAPHY
Explanation:

Question 1

Answer D

Explanation: The coastal area between the Eastern Ghats and the Bay of Bengal is WIDER
than the coastal area between the Western Ghats and the Arabian Sea.

EAST coastal plain rather then west coastal plains is formed as a result of the alluvial of rivers
comprising of deltas

Question 2
Answer C

Explanation: both statements are correct

Question 3
Answer D

Explanation: ALL statements are correct

Question 4
Answer A

Explanation: Duncan Passage lies between South Andaman and Little Andaman



Question 5
Answer A

Explanation: The konkan plain south of the Gujarat plain extends from Daman to Goa

Question 6
Answer D

Explanation: The Barren is ACTIVE volcanic Island

Question 7
Answer D

Explanation: Sriharikota Island is in Pulicat Lake



